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2.5.3. Determination of steam flow for the turbine with RFWH 
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Flowchart of multistage 

RFWH (with mixing heaters) 

Heaters used in RFWH flowcharts: 

NE 

• closed heaters 

• mixing heaters 
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Cycle arrangement of the multistage RFWH (with closed 

heaters) 
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Cascaded drain is used in the cycle with closed heaters 
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Heat balance equation for the heater (conservation of energy) 

For a closed heater, it can be formulated as 

- the amount of heat released is equal to the amount of heat absorbed 
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Heat balance equation for the heater (conservation of energy) 

For a mixing heater, it can be formulated as: 

-the amount of heat absorbed is equal to the amount of heat released 
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Material balance equation for the heater:  


